








A dealer sold three-fourth of his articles at a gain of 24% and 
the remaining at the cost price. Percentage of gain in the  
transaction is ?
एक डीलर ने अपनी तीन-चौथाई वस्तु को 24% के लाभ पर और शेष को क्रय 
मूल्य पर बेच दिया। लेन-िने में लाभ का प्रततशत ह?ै

A.15
B. 18
C. 24
D. 32
E.NOT



The average of 21 data is 36 out of which the first 12 data 
are having an average of 15. The average of the rest 9 data 
is?
21 डेटा का औसत 36 है तिसमें से पहले 12 डेटा का औसत 15 ह।ै शेष 9 डेटा
का औसत ह?ै

A.87
B.65
C.64
D.50
E.NOT



If the cost price of a solid is 3900rs. If 5/7 of its part is sold at 
a profit of 12% and remaining at a loss of 16%. Then find his 
overall profit or loss %? 
यदि एक ठोस का क्रय मूल्य 3900 rs ह।ै यदि इसके तहस्स ेका 5/7 तहस्सा 12% के 
लाभ पर बेचा िाता ह ैऔर शेष को 16% की हातन पर बेचा िाता है। तो उसका 
समग्र लाभ या हातन % ज्ञात कीतिये?

A.2%
B.4%
C.8%
D.-4%
E.NOT



If the 84kg of sugar of 46rs/kg is mixed with 126kg of sugar 
of 76rs/kg. In what price per kg mixture should be sold to get 
20% profit?
यदि 46 रुपये/दकग्रा की 84 दकग्रा चीनी को 76 रुपये/दकग्रा की 126 दकग्रा चीनी 
के साथ तमलाया िाता ह।ै 20% लाभ प्राप्त करने के तलए तमश्रण को प्रतत दकग्रा 
दकस मूल्य में बेचा िाना चातहए?

A.64
B.76.8
C.72
D.73.8
E.NOT



Average marks obtained by 40 students is 56. If the average 
marks of 8 students who failed in the examination are 10, 
what are the average marks of students who passed the 
examination?
40 छात्रों द्वारा प्राप्त औसत अंक 56 ह।ै यदि परीक्षा में अनुत्तीणण होने वाले 8 
छात्रों के औसत अंक 10 हैं, तो परीक्षा उत्तीणण करने वाले छात्रों के औसत अंक क्या 
हैं?

A.67.50
B.42.45
C.76.55
D.64.50
E.NOT



If cost price of a solid is 5900rs. If 5/9 of its part is sold at a 
profit of 5% then in how many % profit or loss he sell the rest 
part to gain overall 6% profit? 
यदि एक ठोस का क्रय मूल्य 5900 rs ह।ै यदि इसके 5/9 भाग को 5% के लाभ पर 
बेचा िाता ह,ै तो वह कुल 6% लाभ प्राप्त करने के तलए शेष भाग को दकतने% 
लाभ या हातन में बेचता है?

A.5
B.6.25
C.7.25
D.8
E.NOT



In a class of 80 students, the ratio of the urban to the rural is 
5:3. In a test, the average score of the rural students is 40% 
more than that of the urban students. If the average score of 
all the students is 69, then what is the average score of the 
rural students?
80 छात्रों की एक कक्षा में, शहरी और ग्रामीण का अनुपात 5:3 ह।ै एक परीक्षा में, 
ग्रामीण छात्रों का औसत अंक शहरी छात्रों की तुलना में 40% अतिक ह।ै यदि 
सभी छात्रों का औसत अंक 69 ह,ै तो ग्रामीण छात्रों का औसत स्कोर क्या ह?ै

A. 80
B. 76
C. 92
D. 84
E.NOT



The average price of 20 pen is 18rs while the average price 
of 18 of this pen is 15.50rs. Of the remaining two pens, if the 
price of one pen is double the price of the other, what is the 
price of each of these two pens?
20 पेन की औसत कीमत 18 रुपये ह ैिबदक इस पेन के 18 पेन की औसत कीमत 
15.50 रुपये ह।ै शेष िो पेनों में से, यदि एक पेन की कीमत िसूरे पेन की कीमत 
से िोगुनी ह,ै तो इन िोनों पेनों में से प्रत्येक की कीमत क्या ह?ै

A.16,32
B.20, 40
C. 27,54
D.22, 44
E.NOT



If a man spends 75% of his income. If his income is 
increased by 20% and his expenditure is increased by 10% 
then find the percentage changes in their savings? 
यदि कोई व्यति अपनी आय का 75% खचण करता ह।ै यदि उसकी आय में 20% 
की वृति होती ह ैऔर उसके व्यय में 10% की वृति होती ह,ै तो उनकी बचत में 
प्रततशत पररवतणन ज्ञात कीतिए?

A.40
B.20
C.50
D.90
E.NOT



If meena spend 30% of her income. If her income is 
increased by 40% and her expenditure is increased by 25% 
then find the percentage changes in her savings?
यदि मीना अपनी आय का 30% खचण करती ह।ै यदि उसकी आय में 40% की 

वृति होती ह ैऔर उसके व्यय में 25% की वृति होती ह,ै तो उसकी बचत में 
प्रततशत पररवतणन ज्ञात कीतिये?

A.70%
B.30%
C.75%
D.50%
E.NOT



Amayra spends 90% of her income. If her expenditure 
increases by 25% and savings increase by 30%, then by 
what percent does her salary increase?
अमायरा अपनी आय का 90% खचण करती ह।ै यदि उसके व्यय में 25% की वृति 
होती ह ैऔर बचत में 30% की वृति होती ह,ै तो उसके वेतन में दकतने प्रततशत की 
वृति होती ह?ै

A.25.5%
B.24%
C.22.5%
D.20%
E.NOT



If a container contain 80 liter milk. If 8 liter milk is taken out 
replaced with 8 liter of water. If this process is repeated two 
times more then find the remaining milk in the mixture? 
यदि एक पात्र में 80 लीटर ििू ह।ै यदि 8 लीटर ििू तनकाल दिया िाता ह,ै तो 
उसे 8 लीटर पानी से बिल दिया िाता ह।ै यदि इस प्रदक्रया को िो गुना अतिक 
िोहराया िाता ह ैतो तमश्रण में बचा हुआ ििू ज्ञात कीतिए?

A.56
B.58.32
C.56.28
D.52.22
E.NOT



A container contains some milk. If 17 liter of milk is taken out 
and replaced with water. If this process is repeated two times 
more then the ratio of milk and water become 27:37. then find 
the initial quantity of milk?
एक कंटेनर में थोडा ििू होता ह।ै यदि 17 लीटर ििू तनकालकर पानी से बिल दिया 
िाए। यदि इस प्रदक्रया को िो गुना अतिक िोहराया िाता ह ैतो िूि और पानी का 
अनुपात 27:37 हो िाता ह।ै तो ििू की प्रारंतभक मात्रा ज्ञात कीतिय?े

A.51
B.86
C.68
D.85
E.NOT



A container contains some milk. If 16 liter of milk is taken out 
and replaced with water. If this process is repeated three times 
more then the ratio of milk and water become 16:65. then find 
the initial quantity of milk?
एक कंटेनर में कुछ ििू ह।ै यदि 16 लीटर ििू को तनकाल कर पानी से बिल दिया 

िाए। यदि इस प्रदक्रया को तीन गुना अतिक िोहराया िाए तो ििू और पानी का 
अनुपात 16:65 हो िाता ह।ै तो ििू की प्रारंतभक मात्रा ज्ञात कीतिय?े

A.32
B.48
C.53
D.62
E.NOT



An alloy contains 90% copper and 10% tin. In another alloy, 
copper is 93% and 4% is tin. In what ratio should both alloy 
be mixed so that newly formed alloy contains 9% tin and 
also find the % of copper in this?
एक तमश्र िातु में 90% तांबा और 10% रटन होता ह।ै एक अन्य तमश्रिातु में 
तांबा 93% और 4% रटन ह।ै िोनों तमश्रिातु को दकस अनुपात में तमलाया िाना 
चातहए दक नवगरठत तमश्र िातु में 9% रटन हो और इसमें तांबे का% भी ज्ञात 
करें?

A. 5:1, 90.5%
B. 5:1, 92.5%
C. 4;3, 75%
D. NOT
E. CND



A man spends 72% of his income. If his income increases by 
28% and his expenditure increase by 25% then what is the 
percentage increase or decrease in his savings (correct to 
one decimal place)?
एक आिमी अपनी आय का 72% खचण करता ह।ै यदि उसकी आय में 28% की 
वृति होती ह ैऔर उसके व्यय में 25% की वृति होती ह,ै तो उसकी बचत में दकतने 
प्रततशत की वृति या कमी होती ह ै(एक िशमलव स्थान तक सही)?

A. 26.95% decrease
B. 38.4% increase
C. 35.7% increase
D.26.3% decrease
E. NOT


